Answers

Lines measure 2cm, Sem, 7cm and 3em. @
Children draw lines of the correct length.

The measurements of the classroom objects will depend on the individual
items that children have chosen.

The train is the odd one out because it has not been placed at 0 @
on the ruler. All of the other items start at Ocwm. =

The possible measurements of the longest animal are: 23em,
249¢em, 25em (half cm measurements are also correct but not to ~—
be expected).

The shortest animal could be: 13cm, 19cm, 1Sem.

The other animals could be: 19¢cm, 1Sem, 16em, 17em, 18cm, 19em, 20cm,
2lem, 22em, 23¢em, 29¢em.
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